
§·¤æ§ü / Unit-I

1. çßîæèØ ÂýÕ‹Ï @Øæ ãñU? ßÌü×æÙ â×Ø ×ð´ çßîæèØ
ÂýÕ‹Ï ÃØæßâæçØ·¤ ÂýÕ‹Ï ·¤æ ×ãUˆßÂê‡æü ¥¢» @Øô´
×æÙæ ÁæÌæ ãñU?

What is Financial Management ? Why is
financial management considered an important
organ of business management in present
time ?

¥Íßæ / OR
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Time : Three Hours] [Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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°·¤ ·¤`ÂÙè ·¤è ÂéSÌ·¤ô´ âð çÙ`Ù Ì‰Ø ©UÂÜµÏ
·¤ÚUæØð »° ãñ´ U Ñ

ßáü çß·ý¤Ø(G) ÜæÖ(G)

w®v{ y,®®,®®® y®,®®®

w®v| {,®®,®®® }®,®®®

™ææÌ ·¤èçÁ° Ñ

(a) ÜæÖ ×æ˜ææ ¥ÙéÂæÌ

(b) â×çß‘ÀðUÎ çÕ‹Îé

(c) SÍæØè Üæ»Ì

(d) G w,®®,®®® ·¤è çÕ·ý¤è ÂÚU ÜæÖ

(e) G v,{®,®®® ÜæÖ ¥çÁüÌ ·¤ÚUÙð ·ð¤ çÜ° çÕ·ý¤è

The following facts have been made available
from the books of a company :

Year Sales (G) Profit (G)

2016 4,00,000 40,000

2017 6,00,000 80,000

Calculate :

(a) Profit Volume Ratio

( 2 )
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``
(b) Break-Even Point
(c) Fixed Costs
(d) Profit earned on sales G 2,00,000
(e) Sales to earn a profit of G 1,60,000

§·¤æ§ü / Unit-II

2. °·¤ ·¤`ÂÙè ·¤è ÜæÖæ¢àæ ÙèçÌ ·¤ô çÙÏæüçÚUÌ ·¤ÚUÌð
â×Ø ç·¤Ù-ç·¤Ù ÕæÌô´ ÂÚU ŠØæÙ ÎðÙæ ¥æßàØ·¤
ãUôÌæ ãñU? â×Ûææ§°Ð

What considerations are kept in view while
deciding the dividend policy of a company ?
Explain.

¥Íßæ / OR

¥Ùé·ê¤ÜÌ× Âê¡Áè â¢ÚU¿Ùæ ·¤æð ÂçÚUÖæçáÌ ·¤èçÁ° ÌÍæ
§â·ð¤ çÙÏæüÚU·¤ô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

Define optimum capital structure and discuss
the determinants of optimum capital structure.

§·¤æ§ü / Unit-III

3. çÙ`Ù çßßÚU‡æ °·¤ ÂçÚUØôÁÙæ âð â`Õç‹ÏÌ ãñ´ U Ñ

ÂçÚUØôÁÙæ ·¤è Üæ»Ì G z®,®®®

â¢¿æÜÙ Õ¿Ì (OïUæâ ƒæÅUæÙð ·ð¤ Âêßü °ß¢ ·¤ÚU ·ð¤
Âà¿æÌ÷) Ñ

G

ÂýÍ× ßáü z,®®®
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G

çmÌèØ ßáü w®,®®®

ÌëÌèØ ßáü x®,®®®

¿ÌéÍü ßáü x®,®®®

Â¢¿× ßáü v®,®®®

çÙ`Ù Îàææ¥ô´ ×ð´ Âð-Õñ·¤ ÂèçÚUØÇU ·¤è »‡æÙæ
·¤èçÁ° Ñ

(a) µØæÁ ·¤æÚU·¤ ·¤ô ŠØæÙ ×ð´ Ù ÚU¹Ìð ãéU°

(b) v®' µØæÁ ·¤æÚU·¤ ·¤ô ŠØæÙ ×ð´ ÚU¹Ìð ãéU°

ßÌü×æÙ ×êËØ ·¤æÚU·¤ v®' ÂÚU ãñU Ñ

ßáü I II III IV V

ßÌü×æÙ ×êËØ ·¤æÚU·¤ô´ ®.~®~v ®.}w{z ®.|zvx ®.{}x® ®.{wv®

The following particulars relate to a project :

Cost of the project G 50,000
Operating Savings (Before depreciation and
after Tax) :

G

Ist year 5,000
IInd year 20,000
IIIrd year 30,000
IVth year 30,000
Vth year 10,000
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Calculate pay-back period under the following
cases :

(a) Ignoring interest factor

(b) Taking into account interest factor at 10%

Present value factor at 10% are :

Year I II III IV V

P. V. F. 0.9091 0.8265 0.7513 0.6830 0.6210

¥Íßæ / OR

ÚUô·¤Ç¸U ÂýÕ‹Ï @Øæ ãñU? ÚUô·¤Ç¸U ÂýÕ‹Ï ·ð¤ ©UgðàØ
ÕÌæ§°Ð

What is Cash Management ? Explain its
objectives.

§·¤æ§ü / Unit-IV

4. çßîæèØ çßßÚU‡æ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U? §â·ð¤
×ãUˆß °ß¢ âè×æ°¡ ÕÌæ§°Ð

What do you mean by Financial Statement ?
Explain its importance and limitations.

¥Íßæ / OR
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°·¤ È¤×ü ·ð¤ çÙ`Ù ¥æ¢·¤Ç¸Uæð´ âð ÂçÚU¿æÜÙ ÜèßÚðUÁ
°ß¢ çßîæèØ ÜèßÚðUÁ ™ææÌ ·¤èçÁ° Ñ

çßßÚU‡æ çSÍçÌ

I II III
çÕ·ý¤è (§·¤æ§Øæð´ ×ð´) {®®®® vz®®® v®®®®®

G G G
çß·ý¤Ø ×êËØ ÂýçÌ §·¤æ§ü v.w® v®.®® ®.w®

ÂçÚUßÌüÙàæèÜ Üæ»Ì ÂýçÌ §·¤æ§ü ®.y® x.®® ®.®y

SÍæØè Üæ»Ì vy,®®® w},®®® x,®®®

«¤‡æÂ˜æ ÂÚU µØæÁ },®®® v{,®®® —

Calculate Operating leverage and Financial
leverage from the following data of a firm :

Particulars Situation

I II III

Sales in units 60000 15000 100000

G G G
Selling price per unit 1.20 10.00 0.20

Variable Cost per unit 0.40 3.00 0.04

Fixed Cost 14,000 28,000 3,000

Interest on Debentures 8,000 16,000 —
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§·¤æ§ü / Unit-V

5. ·¤æØüàæèÜ Âê¡Áè ÂýÕ‹Ï âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?
·¤æØüàæèÜ Âê¡Áè ·¤è ·¤×è °ß¢ ¥æçÏ@Ø ·ð¤ ¹ÌÚUô´
·¤ô ÕÌæ§°Ð

What do you understand by Working Capital
Management ? Enumerate dangers of
deficiency and surplus in working capital.

¥Íßæ / OR

ç·¤âè ÃØßâæØ ·ð¤ çÜ° S·¤‹Ï ÂýÕ‹Ï ·¤æ @Øæ
×ãUˆß ãñU? â×Ûææ§°Ð

What is the importance of inventory
management for a business ? Explain it.

———
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